PreAP PreCalculus Unit 6 2 HW Law_of Sines 1.doc & Cosines
6.2 Law of Sines Name

Solve each triangle for the indicated side to the nearest tenth.
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Solve each triangle PQR. Give angles to the nearest degree and sides to the nearest tenth.
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Solve the following word problem. Give sides to the nearest tenth.

6. From two points P and Q that are 140 ft apart, the lines of sight to a flagpole across a river make angles of
79° and 58° respectively, with the line joining P and Q. What are the distances from P and Q to the flagpole?
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